
JMC Practice Paper E

[image: image1.png]I'saw the following numbers on cars on the way to school. Each number, with one exception,
has the same remainder when divided by 9. Which is the exception?

A 113 B 257 C 554 D 725 E 861

The mean age of the four members of ‘All Sinners’ boy band is 19. What is the mean age
when an extra member who is 24 years old joins them?

A19 B 20 C 21 D 22 E 24

Correct to one decimal place, what is the square root of 18?

A 26 B 3.0 C 36 D 42 E 9.0



[image: image2.png]Nicolas wrote a Christmas card for each of his three sisters — Carol, Holly and Ivy — and put
each card into a separate envelope. In how many different ways can he send a card to each
sister so that none of them receives the correct card?

Al B2 Cc3 D 4 ES

‘What is the size of the angle marked x?

A 42° B 67° C 69°
D 71° E 111°

This is a prime year, since 2003 is a prime number. In the next ten years there is just one
prime year. Which is it?

A 2005 B 2007 C 2009 D 2011 E 2013




[image: image3.png]A6BC In this multiplication each letter stands for a different digit. Which

X T letter stands for 3 ?
DO9E98 4 B C D E
A rectangle is formed by doubling both the length and (a+3)em
the width of the rectangle shown in the diagram. What
is the area, in cm?, of this new rectangle? 2cm

A 2a + 10 B 4a + 12 C 4a + 20 D 8 + 6 E 8a + 24




[image: image4.png]Two builders, Bob and Geri, buy bricks at the same price. Bob sells 10 for £6 and Geri sells

12 for £7. Supposing they sell equal numbers of bricks, what number has each sold when Bob
has gained £4 more than Geri?

A 42 B 60 C72 D 120 E 240

In the diagram alongside, AB = AC andAD = CD.
How many of the following statements are true for the
angles marked?

w=x x+y+z=180 7= 2x
A all of them B two C one
D none of them E it depends on x
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